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if (D) goto T12; | X1 | | gotoXX |
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double y; BEOEH
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y = -x*x + 10*%x + 8 + 10*sin(x)*sin(x);
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#include <stdio.h>
#include <math.h>

double f(double x);

int main(void){
double x, dx, xmin, xmax,
double max_.y, max_x;
int i, ncal;

//--- 000000 ---
xmax = 10;

—10;

.0001;
(xmax—xmin) /dx;

xmin
dx =
ncal

ol

//--- 00000 ---
max_X = xmin;
max.y = f(xmin);

//--- 00000 ---
for (i=1; i<=ncal; i++){
x = xmin 4+ ixdx;
y = f(x);
if (max_y <= y){
max-x = X;
max.y = y;
}
}

//00000000

//00000000000

printf("%f0 00 000 %f0 000 \n”,max_x, max.y);

return 0;

double f(double x){
double y;

y = —x*x + 10xx + 8 + 10#sin(x)*sin(x);

return y;

}

// 00000
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#include <stdio.h>

int cmndiv(int m, int n); //00000000

)/ ========================================================
// 00000
)/========================================================

int main(void){
int hoge, fuga, num;

printf (20 0 0 0000000000000 0OO0ODOO0ODOOODO\R”);
scanf ("%d” , &hoge);

scanf ("%d” , &fuga);

num = cmndiv (hoge, fuga);

printf (?0000000%d00 00 \n”, num);

return 0;

}
//=====================s======s===s===s===s======s===s======s=========
// 00000000

// 0 0O 0O (common diviser)d O O
//============================================================

int cmndiv(int m, int n){
int i, small, count=0;

if (m<n){
small = m;
telse{
small = n;
}

printf "%d0%d0 0000000000000 N\n”,mn);
for (i=1; i<=small; i++){
if (i — 0 && w%i ==0){
count+4+;
printf("%d\n”, i);

}

return count;
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#include <stdio.h>
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int main(void)

{
X
a = hogehoge (RBIH); < | EROHUHL |
}
A
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return = ;
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